

The Camera Store

Get the picture

RENTAL CATALOGUE

<u>Canon</u>

Nikon

<u>Sony</u>

Panasonic

<u>Fujifilm</u>

Cinema Lenses

Audio

Projectors

Studio & Lighting

CANON

CANON M	IIRRO	RLESS
----------------	-------	-------

CANON WIRKORLESS		
EOS R5	\$175/day	\$700/week
EOS R6	\$175/day	\$700/week
EF-RF Control Ring Adapter	\$20/day	\$80/week
RF 24-105mm f/4 L	\$35/day	\$140/week
RF 24-105mm f/4-7.1	\$15/day	\$60/week
RF 24-70mm f/2.8 L IS	\$50/day	\$200/week
RF 28-70mm f/2 L IS	\$30/day	\$120/week
RF 50mm f/1.2 L	\$30/day	\$120/week
RF 85mm f/1.2 L	\$30/day	\$120/week
RF 70-200mm 2.8 L	\$50/day	\$200/week
RF 600mm f/11 IS	\$25/day	\$100/week
CANON DSLR		
5D Mark IV	\$150/day	\$600/week
EF 16-35mm f/2.8 L II	\$25/day	\$100/week
EF 16-35m f/4 L	\$25/day	\$100/week
EF TS-E 17mm f/4 L	\$55/day	\$220/week
EF 24-70mm f/2.8 L II	\$30/day	\$120/week
EF 35mm f/1.4 L II	\$30/day	\$120/week
EF 50mm f/1.2 L	\$25/day	\$100/week
EF 85mm f/1.2 L	\$35/day	\$140/week
EF 100-400 f/4.5-5.6 L IS II	\$50/day	\$200/week
EF 70-200 f/2.8 L IS II	\$35/day	\$140/week
600 EX Speedlight	\$15/day	\$60/week

NIKON

NIKON MIRRORLESS

MINOR WINNESS		
Z8	\$125/day	\$500/week
Z7	\$175/day	\$700/week
Z 6	\$175/day	\$700/week
FTZ Adapter	\$25/day	\$100/week
24-70 f/4 S	\$40/day	\$160/week
35mm f/1.8 S	\$25/day	\$100/week
50mm f/1.8 S	\$25/day	\$100/week
70-180mm f2.8	\$40/day	\$160/week
24-120mm f4	\$35/day	\$140/week
NIKON DSLR		
D850	\$150/day	\$600/week
D750	\$100/day	\$400/week
AF-S 16-35G	\$30/day	\$120/week
AF-S 24-70 f/2.8G ED	\$30/day	\$120/week
AF-S 85mm f/1.4 G	\$25/day	\$100/week
AF-S 70-200 f/2.8G ED VR II	\$50/day	\$200/week
SB-910 Speedlight	\$15/day	\$60/week

SONY

a7R III	\$125/day	\$500/week
a7 III	\$125/day	\$500/week
a7S III	\$150/day	\$600/week
a7 IV	\$150/day	\$600/week
a7R V	\$150/day	\$600/week
a9	\$175/day	\$700/week
10-18mm f/4 OSS (APS-C)	\$30/day	\$120/week
14mm f/1.8 GM	\$40/day	\$160/week
16-35mm f/2.8 GM	\$40/day	\$160/week
18-105mm f/4 G OSS (APS-C)	\$30/day	\$120/week
24mm f/1.4 GM	\$40/day	\$160/week
24-70mm 2.8 GM	\$50/day	\$200/week
24-105mm f/4 G OSS	\$30/day	\$120/week
35mm f/1.4 Zeiss	\$40/day	\$160/week
50mm f/1.4 Zeiss	\$30/day	\$120/week
50mm f/1.2 GM	\$40/day	\$160/week
70-200 f/2.8 GM	\$50/day	\$200/week
70-200 f/2.8 GM II	\$80/day	\$320/week
85mm f/1.4 GM	\$50/day	\$200/week
90mm f/2.8 Macro G OSS	\$40/day	\$160/week
100-400 f/4.5-5.6 GM OSS	\$75/day	\$300/week
200-600 f/5.6-6.3 G OSS	\$80/day	\$320/week
Tamron 28-75mm f/2.8 Di III VXD G2	\$35/day	\$150/week
Tamron 35-150mm f/2-2.8 Di III VXD	\$35/day	\$150/week
Tamron 70-180 f/ 2.8 Di III VXD	\$35/day	\$150/week

PANASONIC

Fu	II F	ra	m	6

ruii riaiile		
Lumix S1	\$125/day	\$500/week
Lumix S1R	\$175/day	\$700/week
Lumix S 24-105mm f4 Macro OIS	\$50/day	\$200/week
Lumix S 50mm f1.4	\$50/day	\$200/week
Micro 4/3		
Lumix GH5	\$125/day	\$500/week
Lumix GH5s	\$125/day	\$500/week
Lumix GH4	\$60/day	\$240/week
Lumix G9	\$75/day	\$300/week
Lumix GX9	\$40/day	\$160/week
LUMIX G85	\$40/day	\$160/week
Leica DG Vario-Elmarit 8-18mm f/2.8-4	\$40/day	\$160/week
Leica DG Summilux 12mm f/1.4	\$50/day	\$200/week
Leica DG Summilux 15mm f/1.7	\$30/day	\$120/week
Lumix G X Vario 12-35mm f/2.8 II	\$30/day	\$120/week
Leica DG Vario-Elmarit 12-60mm f/2.8-4	\$40/day	\$160/week
Leica DG Summilux 25mm f/1.4	\$30/day	\$120/week
Lumix G 35-100mm f/2.8 Power O.I.S.	\$30/day	\$120/week
Lumix G 35-100mm f/2.8 Power O.I.S. II	\$30/day	\$120/week
Leica DG Nocticron 42.5mm f/1.2	\$40/day	\$160/week
Leica DG Vario-Elmarit 50-200mm f/2.8-4	\$40/day	\$160/week
Lumix G 100-300mm f/4-5.6 POWER O.I.S.	\$30/day	\$120/week
Leica DG Vario-Elmar 100-400mm f/4.0-6.3	\$40/day	\$160/week
Leica DG Elmarit 200mm f/2.8 POWER O.I.S.	\$75/day	\$300/week

Compacts		
Lumix LX100 Mk II	\$40/day	\$160/week
Lumix ZS200	\$40/day	\$160/week
FUJIFILM		
Fujifilm Instax Wedding Package	\$50/day	\$200/week
10 Instax Mini 9 Cameras + 1 Printer	·	
Fujifilm X-T4	\$80/week	\$320/week
XF 16-55 f/2.8 R LM WR	\$41/day	\$164/week
XF 16mm f/1.4 R WR	\$35/day	\$140/week
XF 23mm f/1.4 R	\$28/day	\$112/week
XF 23mm f/2 R WR	\$28/day	\$112/week
XF 90mm f/2 R LM WR	\$33/day	\$132/week
XF 50-140mm f/2.8 R LM OIS WR	\$54/day	\$216/week
XF 100-400 f/4.5-5.6 R LM OIS WR	\$70/day	\$280/week
	-	
GF 30mm f5.6 Tilt-Shift	\$75/day	\$300/week

CINEMA LENSES

Sigma Cine 20mm T1.5	\$125/day	\$500/week
Sigma Cine 24mm T1.5	\$125/day	\$500/week
Sigma Cine 35mm T1.5	\$125/day	\$500/week
Sigma Cine 50mm T1.5	\$125/day	\$500/week
Sigma Cine 85mm T1.5	\$125/day	\$500/week
Sigma Cine Lens Kit (5 Lenses)	\$525/day	\$2,100/week

AUDIO

Gitzo Mic Boom w/ 15' XLR	\$15/day	\$60/week
Deity V-Mic D4	\$15/day	\$60/week
Rode Video Mic Pro	\$15/day	\$60/week
Sennheiser K6 Shotgun Mic	\$30/day	\$120/week
Rode Wireless Go 2 (Single)	\$15/day	\$60/week

PROJECTORS

LIGHTING & STUDIO

Continuous Lighting

Shadowless Round Led 300 Kit (2 Light Kit)	\$15/day	\$60/week
Joker 800	\$50/day	\$200/week
Manfrotto Spectra Flood Panel (2 Light Kit)	\$60/day	\$240/week
Godox SL60	\$30/day	\$120/week
Lumahawk 500 LED Round	\$50/day	\$200/week

Studio Lighting		
Godox AD600 W/ Stand	\$15/day	\$60/week
	, ,,,,,	, ,
Godox V1 Flash (Canon)	\$20/day	\$80/week
Godox V1 Flash (Nikon)	\$20/day	\$80/week
Godox V1 Flash (Sony)	\$20/day	\$80/week
Wireless Transmitters		
Godox XPro Transmitter (Canon)	\$15/day	\$60/week
Godox XPro Transmitter (Nikon)	\$15/day	\$60/week
Godox XPro Transmitter (Sony)	\$15/day	\$60/week
Godox XPro Transmitter (Fujifilm)	\$15/day	\$60/week
Godox XPro Transmitter (Panasonic)	\$15/day	\$60/week
Soft Boxes		
24x36"	\$15/day	\$60/week
10x35"	\$25/day	\$100/week
35x48"	\$25/day	\$100/week
Umbrellas		
45"Translucent	\$7/day	\$28/week
45" White Reflective	\$7/day	\$28/week
30" White Reflective	\$7/day	\$28/week
35" Convertible	\$7/day	\$28/week
Stands & Accessories		
C-Stand w/ Boom Arm	\$15/day	\$60/week
Background Stand Set – 9'	\$20/day	\$80/week
15lb Sandbags (each)	\$3/day	\$12/week
Manfrotto Photo Tripod w/ Ball Head	\$15/day	\$60/week
Manfrotto Video Tripod w/ Fluid Head	\$30/day	\$120/week